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(84%)

(NG  kMfE

(2)CH, CH4+HZOE@-CO+3H3 14:3
(3)H,0, @F

(94

(1)H

(2)2H, + 0, =2H,0 KOH i
G)E  FR
()RR, RIGHEREE
(6 41)

(1)0.2

(2)0.0016 mol/(L-s)

(3) LR E 3N T Ao T RS
(4)0.2mol  0.8mol  20%

7 0 KGR ST A

24.(8 51)

(1)Fe+2H" =Fe?™ + H, 4

(2) itk FHE AT i ¥k 55 BR A R S AR
(DERMEEHRAIE  RHIARF ki
(Ha ik

(9 41)

(1) Cly + 2NaBr = Br, + 2NaCl Cly

Q) FHIMA
(3 HEALE CL>BrR >,
(DF, GKEEAER 0
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S—eFEER BT (H270)
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26A. (BRIFFRILIISN, @2 147,36 14 5)
(1)si 4
(2)Si
(3= VA  H-+:0:+ H—H:OH 2 4)
(H3tMe 3
(5)Cl  Cl+H,S=2HCI+Sy (24) _
(6)H;O>NH;>CH, GN,
27A.(6 &)
165 _
ﬁ:(l)wg/mol—lmol - 14y
121 _
22.4L/mol_5m01 BRSNS e A S R AR SRR R e e 1%
Smol X 890k]/mol = 4450k] 14
(2)CH, +20, ﬁ=%C02+2H10 - - 14
7(CO,) = n(CH,) =5mol -++-eerremrrersorvemenemeetmssnnenorensisnssisneaineneneeees 1 49
V(CO;3) = Smol X22.41L/mol = 112L - 14
% (B8)
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26B. (BRAFHRH IS, = 1 4, 3L 14 43)
(1)Na <
(2) 0 = - VA 0 HOWHSEHEZE
VaED Vo o
(OO WF@ASNE  NaT+IC—NS [A]T 24
(4)Cl, + 2NaOH=NaCl + NaCIO + H,0 (2 4%) 2
27B. (6 4)
##:(1) V(NO) =3m® X 0.224L/m® = 0., 6721 ---ereveerreeeeeerimemieniiinninni e | 43
V(03) =3 V(NO) = 3-x0.6721.=0.224L w 1 4F
__0.2241, _
(2),,(03)_22'4I‘/m01_0_01m01 e e | 4}
0.01mol % 317.3k]J/mol=3.173k] 15
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